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Section Marks : 80
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Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3475772086 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r
If for 95{—%,0]‘[1}-‘3 points (x,y)= 31;&111(9-1— EJ.Etan[9+%H

S

; ? 2 P
lie on xy + ax + By +» =0, then o~ + B~ + v~ is equal to
Options :
3475777341, 75
3475777342. 80

3475777343, 96



3475777344, 72

Question Number : 1 Question Id : 3475772086 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No
T
Jtdn(9+ ] 2tan[9+gn,

Correct Marks : 4 Wrong Marks : 1
xy +n11:~~!33+r—iilthgr dlo? + P RERE

afe 9{_ u} % forg, fig (.
Options :

3475777341, 75

3475777342, 80
3475777343. 96
3475777344, 72

Question Number : 2 Question Id : 3475772087 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Among the statements

(S1): The set { zeC—{~i}:|z ‘ =1 and is purely real} contains exactly two elements, and
zZ+1

(S2): The set |z e ll |z| =i and = is purely imaginary| contains infinitely many
z+1

elements.

Options :

3475777345, both are correct
3475777346. both are incorrect
3475777347, only (S1) 1s correct
3475777348, only (S2) 1s correct

Question Number : 2 Question Id : 3475772087 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sd: IR g} § 92d: &l 399d g, 3R

(52): TGS {zeC—{~1}:||=1 61‘1?2—‘1 Y&d: BledFD 8 A 3Fd 39 ¢
Z+

0y

Options :

3475777345, Gl UG ©

3475777346, QI 1T ©
3475777347, DA (S1) TSI 8
3475777348, DA (S2) TSI 8

Question Number : 3 Question Id : 3475772088 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the set of all values of p € E. for which both the roots of the

equation & — p+2)x+ (2p + 9)= 0 are negative real numbers, be the interval (a, B]. Then
f—2ais equal to

Options :

3475777349. 20

3475777350. 9

A

3475777351.

3475777352. 0

Question Number : 3 Question Id : 3475772088 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A p € & & QU gL, 5 fau a2 - (p + 2)x + (2p + 9)= 0 D &l Hd BUTHD
IRAfad WEd §, BT TH= AR (o, f] 81 1B - 20 NER §

Options :
3475777349.

[

0

3475777350. 9

L

3475777351.

=

3475777352.



Question Number : 4 Question Id : 3475772089 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the system of equations :

2x+3p+5z2=9,

x+3y—-22=8,

12x+3y— (4+A)z=16— U,

have infinitely many solutions. Then the radius of the circle centred at ( 4, ¢) and touching the
line 4x =3y is

Options :
3475777353. 7

21

3475777354, 3

3475777355. 5

17
3475777356. 3

Question Number : 4 Question Id : 3475772089 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HHET GHIGRT Hhrg

2x+3yp+35z2=9,
Ix+3y —2z=38,
12¢+3y— (4+4)z=16— U,

?Wﬁ%ﬁﬂﬂ@ﬂﬁﬂﬁéﬁm 1) € 3R S Gl 4x = 3y I WR HIAT ¢, DI HA0

Options :
3475777353, 7

3475777354, 3

Lh |~

3475777355.

17
3475777356. 3



Question Number : 5 Question Id : 3475772090 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let 4 be a 3 * 3 matrix such that | adj (adf (adj A))| = 81. If

(n-1)° - \
S=qne :[]a.:.jr’ (adj A )D_E_m =|A[{m -Sn=4 . then Z A
ne §

2
(!'.' +n

is equal to

Options :
3475777357. 732

3475777358, 750
3475777359. 820
3475777360. 866

Question Number : 5 Question Id : 3475772090 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OHITD 3 3 HAG 4 b [T | adj (adf (adi 4))| = 81 T1 TG

.f”‘”_z 0 S o Fro n+n E
L ne?ﬂ:ﬂadj(m;’jgj)i) 2 =|A]i3”'“”'4.] g, dl Z A[ ] W g

ne §

Options :
3475777357. 732

3475777358, 750
3475777359. 820

3475777360. 866

Question Number : 6 Question Id : 3475772091 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let xq, X7, X3, X4 be In a geometric progression. If 2, 7, 9, 5 are subtracted respectively

from xq, x5, X3, x4, then the resulting numbers are in an arithmetic progression. Then the value of
: (X %5 2y X5) 18

P S Bt B B :

24

Options :

3475777361. 216

3475777362, 72

3475777363, 36



3475777364, 18

Question Number : 6 Question Id : 3475772091 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A xq. x5, x3. x4 0D UITR 91 T €1 316 1y, 1. x5, x, H U HAE 2, 7,9, 5 G R U
Tt U wHiaR 41 7 8. al ﬁi-r] X, % x%,) BIAAG :

Options :
3475777361. 216

3475777362, 72
3475777363, 36
3475777364, 18

Question Number : 7 Question Id : 3475772092 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(64) (64)
The remainder when ({ﬁjr} ) is divided by 7 is equal to

Options :
3475777365. 1

3475777366. 3
3475777367. 4
3475777368. 6

Question Number : 7 Question Id : 3475772092 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[(64J{64)){64} P17 ¥ FAUIRE $E R I 3

Options :
3475777365. 1

3475777366. 3
3475777367. 4
3475777368. 6

Question Number : 8 Question Id : 3475772093 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

From a group of 7 batsmen and 6 bowlers, 10 players are to be chosen for a team, which should
include atleast 4 batsmen and atleast 4 bowlers. One batsmen and one bowler who are captain and
vice-captain respectively of the team should be included. Then the total number of ways such a
selection can be made, is

Options :

3475777369. 135

3475777370. 145
3475777371, 135

3475777372. 165

Question Number : 8 Question Id : 3475772093 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 Fecidrsll 3iR 6 gl Y U dH o iU 10 Radars], f5FH ©H 9 $H 4 dedds 3R &
Y 61 4 el g difgd, 944 ¢ | U decldlsl 3R U TGdTs, Sil R b 3R 3U-
HWHE g, S H gH a1igd | 38 UBR & 9941 &1 ol S §

Options :

3475777369. 135

3475777370. 145
3475777371, 135

3475777372. 165

Question Number : 9 Question Id : 3475772094 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The mean and standard deviation of 100 observations are 40 and 5.1. respectively. By mistake
one observation is taken as 50 instead of 40. If the correct mean and the correct standard
deviation are |l and ¢ respectively, then 10(p +0) is equal to

Options :

3475777373, 451

3475777374, 449
3475777375, 447

3475777376, 445

Question Number : 9 Question Id : 3475772094 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



100 W&IUTf &7 AT 3R HHS [dc- HH: 40 31X 5.1 B 1 I U UD YU Dl 40 F TIMH T 50
foran T 31 afe Ul /19T 3R IS A S [99a- HHY P AR ¢ ©, a1 10(u +0) RER 8
Options :

3;)75777373. 451

3475777374, 449
3475777375, 447

3475777376, 445

Question Number : 10 Question Id : 3475772095 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let P be the parabola, whose focus is (-2, 1) and directrix is 2x + v + 2 =0. Then the sum of the
ordinates of the points on P, whose abscissa i1s -2, is

Options :

5

3475777377, 2

3

3475777378, 4

3

3475777379. 2

|
3475777380, 4

Question Number : 10 Question Id : 3475772095 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O 9 P D1 MY (-2, 1) § 3R 9841 2x + v+ 2 =0 §1 T TRA™ P R 3 fdgail , foqa1
Yol -2 8. DI difegl S48

Options :

5

3475777377, 2

3

3475777378, 4

3

3475777379. 2



|
3475777380, 4

Question Number : 11 Question Id : 3475772096 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let ABC be the triangle such that the equations of lines AB and ACbe 3y -x=2andx +y=2,
respectively, and the points B and C lie on x-axis. If P is the orthocentre of the triangle ABC. then
the area of the triangle PBC is equal to

Options :

3475777381. 4

3475777382. 10
3475777383. 8

3475777384. 6

Question Number : 11 Question Id : 3475772096 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O FHIYS ABC &1 YST1311 AB 3R AC & GHIBRUI HH: 3y -x=2 3R x+y=2¢ 3R fdg B
¥yl C,

& R T 1 afG YT ABC DI dddb= P 8, O FAYS PBC $1 &Fhd SRR §

Options :

3475777381, 4

3475777382. 10
3475777383. 8

3475777384. 6

Question Number : 12 Question Id : 3475772097 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let C; be the circle in the third quadrant of radius 3, that touches both coordinate axes. Let C, be

the circle with centre (1, 3) that touches C; externally at the point ( e, 8 ). If (S —a]l =2
L

,gcd(m,n)=1,then m+ nis equal to
Options :

3475777385. 9

3475777386. 13

3475777387. 22



3475777388, 31

Question Number : 12 Question Id : 3475772097 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M1 g Iquie § 5581 3 61 UD 94 ¢, 8, O G Faiid el &l TRl Hdl g | I os

(1.3) PTTH T4 €, . 51 99 €, DI el [{G (o ) R T DA 1 AR (f-)’ ==

~gcd{m.n}=l.f‘ﬁn?+nW%
Options :

3475777385. 9

3475777386. 13
3475777387, 22
3475777388. 31

Question Number : 13 Question Id : 3475772098 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 _y+l_z-1
3

Z . . i . :
= —. Then, which of the following points lies on the line L?

Let the line L pass through (1, 1, 1) and intersect the lines =

D L
1 2

Options :

3475777389, (4. 22, 7)

3475777390, (75 15, 13)
3475777391, (10, =29, -50)

3475777392, (5. 4. 3)

Question Number : 13 Question Id : 3475772098 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL g (1, 1, 1) Y g oirdl § SR il -f;':*j‘:j' AR 132—47
FIue B gl AP A AP A R L RS

Options :
3475777389, (4. 22, 7)

3475777390, (7. 15. 13)

3475777391, (10. =29, -50)



3475777392, (3. 4. 3)

Question Number : 14 Question Id : 3475772099 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 2 x—1 -2 z-3 X v =z=5. 5
If the shortest distance between the lines i : - and —==—= T 15 i then
3 a v

the sum of all possible values of a is
Options :
3475777393. 3

3475777394, —3

5
3475777395. 2

3

3475777396. 2

Question Number : 14 Question Id : 3475772099 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe et -"’;‘:F;Z:-’j M T=2-2 FITAA G LR Ao W
b 1] W

HHEI BTN

Options :
3475777393, 3

3475777394, —3

3
3475777395. 2

3

3475777396. 2

Question Number : 15 Question Id : 3475772100 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ; ~ " ; 65
Let the angle 6,0 <6 < E between two unit vectors d and b be sin | —— |. If the vector

¢ =3a+ 63; + 9(& % f;) , then the value of 9[5-&}— 3{5 b) I
Options :
3475777397.

[

4

]
L |

3475777398.



3475777399. 29
3475777400. 31

Question Number : 15 Question Id : 3475772100 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
P T =
11 &1 A Giagla SR b & &ld BT 0 =gin ' -?’- L0<f= 5*%Itrf&¥riﬁ*&’l

¢ =3a+6h+9(axb) &, 9(¢-a)-3(¢-5) PTAFE
Options :
3475777397.

I

4

]
L |

3475777398.

[

3475777399. 29

3475777400. 31

Question Number : 16 Question Id : 3475772101 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tdnLS( ) JIUE (1+3x2]
[tan ?Nr_)

Iim

St is equal to

»5(x)3 _

Options :
3475777401. 1

L | ==

3475777402.

3475777403.

fa—
Ln

3475777404.

Question Number : 16 Question Id : 3475772101 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



tdn[ﬁ( )3 ]rug (1+3%%)

: W%‘
[tan 3(}

lim
x—0OT

»5(x)3 _

Options :
3475777401. 1

3475777402, 3

3475777403.

Ja—
Ln

3475777404.

Question Number : 17 Question Id : 3475772102 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let x=—1 and x = 2 be the critical points of the function f(x) = C+al+b cov I g I
Let m and M respectively be the absolute minimum and the absolute maximum values of f in the
; 1 _ :

interval [—2, —E} Then |[M + m| 1s equal to

(Take log,2 =0.7) :

Options :

3475777405. 19.8

[

3475777406, 20.9

[

3475777407, 21.1

3475777408, 22.1

Question Number : 17 Question Id : 3475772102 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wq’ﬁl:lf(x]=x3+mj—blege x| + 1.x¢0,?ﬁﬁﬁﬁ$ﬁ§ x=—1 3R x=2¢ | AFI 3R
[—2, —ﬂ H 7 & [RU gAaH SR [RUE by 09 SR m AR MBI dl M+ 7

WK g (log.2 =0.7 SIEIYE
Options :

3475777405. 19.8

3475777406, 20.9



3475777407, 21.1

3475777408, 22.1

Question Number : 18 Question Id : 3475772103 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T (x+3)sinx
The integral I w dx is equal to
y 1+3cos” x
Options :
n
—( T+ 1)
3475777409. '\/5
L
—(n+2)
3475777410. \/5
—T[-—(n+4)
3475777411, 2V 3
—_(n+6)

&I

3475777412, 3

Question Number : 18 Question Id : 3475772103 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i . - ”
I (.1+3)51:1.x 5 5
5 1+3cos” x
Options
T
—(n:+ 1)
3475777409. \E
T
—(n+2)
3475777410. \E
—T[-—(n+4)
3475777411, 2N 3
Z_(n+6)

3475777412, 3N 3

Question Number : 19 Question Id : 3475772104 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



,
~ X x—4
If the area of the region bounded by the curves ¥ =4—— and Y=

1 is equal to a. then 6a

equals
Options :
3475777413. 210

3475777414, 220
3475777415. 240

3475777416, 250

Question Number : 19 Question Id : 3475772104 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ry =42 Ry - X4 Qo A A o2 A g AR

Options :
3475777413. 210

3475777414, 220
3475777415. 240

3475777416, 250

Question Number : 20 Question Id : 3475772105 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let y = v (x) be the solution curve of the differential

equation x (x% + &) dy+(e"(x=2)y ) de=0x>0, passing through the point (1, 0).
Then y (2) is equal to
Options :

4

)
3475777417. 4 — €

2

2
3475777418, 2 — €

4

S
3475777419, 4+ €

2

2
3475777420, 2+ €



Question Number : 20 Question Id : 3475772105 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a1 WWELE +e") dy+ (e (x—2)y—x) dr=0,x> 0PI A TD y =y (x).
&g (1.0) U@ A gl dly 2) N &

Options :

4

)
3475777417. 4 — €

2

2
3475777418, 2 — €

4

ety
3475777419, 4+ €

2

2
3475777420, 2+ €

Mathematics Section B

Section Id : 347577147
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 5

Number of Questions to be attempted : 5

Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 347577147
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3475772106 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

For n = 2, let S, denote the set of all subsets of {1, 2, ..., n} with no two consecutive numbers.
For example {1, 3,5} € Sg but {1, 2, 4} & S¢. Then # (S5) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 3475772106 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1



n>2 P [0 AF {1, 2. ... n} & GH SUTGH=AT, [SHH &1 HURTd Y18 ol 8. Bl
g4 s, 81 3a1eond (1.3, 5] € Ss 8. T (1. 2.4} € 5,81 T n(S5) RERE
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 3475772107 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
The number of singular matrices of order 2, whose elements are from the set {2, 3. 6. 9}. is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 3475772107 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

®life 2 & b Huiiy 3H1eEl, [oHd 3ddd Y=g {2.3.6.9! U . dI H& ¢ :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 3475772108 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

X 2

Consider the hyperbola x_$ £E }: — ] having one of its focus at P(—3, 0). If the latus ractum
u" b“ 2 g |

through its other focus subtends a right angle atPand @ b” =« \/5 -fB.a,peN,

thena + B is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 3475772108 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1



2

¥ 1, TSI U A1Y p(-3. 0) W T, BT f[ddR HIfST| TG TqBT G

Wﬁ#@l?\ﬂﬂﬁﬁﬂﬁﬂﬁ-ﬁaﬁﬁm fdg P IR U GHSI 9411 8 3R
ab’=av2-B,a,fcNT Ta+pRERS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 3475772109 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

The number of relations on the set A= {1, 2, 3}, containing at most 6 elements including (1, 2),
which are reflexive and transitive but not sy mmen ic; is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 3475772109 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

g A= (1.2, 3} R34 Gael, foHH (1, 2) G 3MUHTH 6 31994 § I 9 el 3R
HehTHe § g THT TEl 8, DI Y= 3

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 3475772110 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 1

2
X

The number of points of discontinuity of the function f (1) = E - [ Jx J ,XE [(}i 4] . where []

denotes the greatest integer function, is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 25 Question Id : 3475772110 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

Be f(x)= ’:2_2 ~[Vx ], x[0,4], ST [-] e quiieh e €, & Siae & fefgaf 31

S

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
1

Physics Section A
Section Id : 347577148
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 347577148
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 3475772111 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If €j denotes the permittivity of free space and @ is the flux of the electric field through the area

. . . ) d ;- )
bounded by the closed surface, then dimensions of [En _jé_ are that of -
[
Options :
3475777426, €lectric charge

3475777427, €lectric potential

3475777428, electric current

3475777429 electrie tield

Question Number : 26 Question Id : 3475772111 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



g €, God 31 (Hal) B degaziierdl i FiEy Bl 8 3R ¢, Uad (de) J¥ R
RS & Y gIdR o+ dId dadd &3 &l U8 (WH) g, ?ﬁ(en d_ié]aﬁﬁﬂﬁ,
fafeRad i fgarel & 9HH B

Options :

3475777426. W \}m

3475777427. W ﬁm

3475777428. W CIN

3475777429. ~; g é‘:ﬁ[

Question Number : 27 Question Id : 3475772112 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two thin convex lenses of focal lengths 30 cm and 10 em are placed coaxially. 10 cm apart. The
power of this combination is:

Options :

3475777430. 1 D

3475777431. 10 D
3475777432. 3 D

3475777433, 20 D

Question Number : 27 Question Id : 3475772112 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BRG] gl?al 30 cm 3R 10 cm @ Gl Udd 39d -9 Udh _g'\_\‘:l)\r—\q 10 em gX HHIEC: @ﬁ%l ERs

UYIH &1 &Hdl o:
Options :
3475777430. 1 D

3475777431. 10 D

3475777432. 5 D

[

3475777433, 20D

Question Number : 28 Question Id : 3475772113 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An object of mass 1000 g experiences a time dependent force F :(21 i+3¢ 1;] N. The power

generated by the force at time t is:
Options :

3475777434, (2t + 37 )W
3475777435, (20 =317 )W
3475777436, ( 2t° T 1817 ) W

3475777437, ( 3 5t )W

Question Number : 28 Question Id : 3475772113 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S 1000 g BT T 98, T FHI-FHR T 7= (27437 v DT THT Pcll ¢ | THT R 39
ESEAN IR EEARIERICR

Options :

3475777434, ( 27+ 307 )W
3475777435, ( 280 + 317 )W
3475777436, ( 2t7 T 1817 ) W

3475777437, ( 3 57 )W

Question Number : 29 Question Id : 3475772114 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A rod of length 5 L is bent right angle keeping one side length as 2 L.

¥

aL

2L

The position of the centre of mass of the system:

(Consider L= 10 cm)
Options :

3475777438, 21 +3]



3475777439, 4 +9]
3475777440, 31 + 7

3475777441, 31 +8J

Question Number : 29 Question Id : 3475772114 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MRS 5 L H1 Uh 3 &l Uh R &l dEls 2 L 30d gU YHGI0 H TSI T g

A

3L

2L
39 e & gHAM-B @i UM B

(L=10 cm HIF ¢
Options :

3475777438, 2 +3]

3475777439, H +9 ]
3475777440, 31 + 7]

3475777441, 31 +8)

Question Number : 30 Question Id : 3475772115 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A cubic block of mass m is sliding down on an inclined plane at 60° with an acceleration of ‘g the

value of coefficient of kinetic friction is
Options :
NG

3475777442, 2

V3

3475777443. 2

2

3475777444, 3

3475777445, 3 ~1



Question Number : 30 Question Id : 3475772115 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AU m BT Uh TAIHR D, £ b @R & Y, 60° W T 3Td dd U +Id Bl 3R Wb
el © | T TN & 0T &l J11 ¢

Options :

3

3475777442, 2

B3
3475777443. 2

V2

3475777444, 3

3475777445, N3 1

Question Number : 31 Question Id : 3475772116 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two projectiles are fired from ground with same initial speeds from same point at angles (45° +
@) and (45° - a) with horizontal direction. The ratio of their times of flights is
Options :
l+tanex
3475777446. 1 —tan

3475777447. 1

1 +sin2¢x
3475777448, 1 —sin 2¢x

1—tan e
3475777449, 1+ tan &

Question Number : 31 Question Id : 3475772116 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol Ul o1, &fas fa=m s 1y, BIvl (450 + o) 3R (45° - o) R, FAM fog I A URMAES
9T & 1Y, ¢RI U WU f6ar (&) SIdl 81 3 354 Sidl BT uld §
Options :

l1+tane
3475777446, 1 —tan

3475777447. 1



1+ sin 2ex
3475777448, 1 —sin 2¢x

1—tan e
3475777449, 1+ tana

Question Number : 32 Question Id : 3475772117 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
: : . : Ly 1 o
Two wires A and B are made of same material having ratio of lengths —2 =~ and their diameters
LB
.d i _n : ; A .
ratio —— = 2. If both the wires are stretched using same force, what would be the ratio of their

B
respective elongations ?
Options :
3475777450. 1:3

3475777451, 1:12
3475777452, 1:6

3475777453, 3:4

Question Number : 32 Question Id : 3475772117 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aw[sﬁff%ﬁﬁwm = aﬁ?aﬂﬁf%aﬂw =2 g &l dR A 3R B GHE g §

ﬁﬁa%mﬁ?ww%uﬁnﬁﬁmaﬁa% a1l 39 HH: SHiBRu (GHafsal) Hi
3{UTd T g

Options :
3475777450. 1:3

3475777451, 1:12
3475777452, 1:6

3475777453, 3:4

Question Number : 33 Question Id : 3475772118 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the LIST-T with LIST-I

LIST-I LIST-II
rp 5
A [Triatomic rigid gas L | ===
Oy 3
Cp
B.|Diatomic non-rigid gas II|—=

]
] —
=
L | = | | =2

C_Monoatomic gas [11.

-

I

=]
-1 | W2

D [Diatomic rigid gas V.

-~
-

Choose the correct answer from the options given below:
Options :
3475777454, A-111, B-II, C-IV, D-I

3475777455, A-IIL B-IV, C-1, D-II
3475777456, A-1L, B-IV, C-I, D-III

3475777457, A-1V, B-II, C-III, D-I

Question Number : 33 Question Id : 3475772118 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A1 D FEI-11 & 1Y e 63

-1 -1
; Oy 5
T oy
A [EOATIE T T L =3
Cp 7
7
B [fETRA® 3Eg 19 =g
@ T4 .
[EPURATE e
3 Cy 9
A
D [GURAN® T¢ 19 Vo=
g feu U faded! d 9 9t SR gH:

Options :
3475777454, A-IIL B-II. C-IV, D-I

3475777455, A-111, B-IV, C-I, D-II
3475777456, A-11. B-IV, C-I, D-III

3475777457, A-IV. B-II, C-III, D-I



Question Number : 34 Question Id : 3475772119 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two harmonic waves moving in the same direction superimpose to form a

wave x = a cos (1.5t) cos (50.5t) where t is in seconds. Find the period with which they beat.
(close to nearest integer)

Options :

3475777458. 2 s

3475777459. 4 s
3475777460. 6 5
3475777461, 1 s

Question Number : 34 Question Id : 3475772119 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT e H TG &7 3i1adl ¥, U T x = a cos (1.51) cos (50.5t) S & feTg SeaRIToT
PRl €. STET t YHUS H g1 98 Madeld (Hdedd qorie H) 1d &3, 5 9 faw ol

Options :
3475777458, 2 5

3475777459, 4 s
3475777460. 6 s
3475777461. 1 s

Question Number : 35 Question Id : 3475772120 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An ac current is 1'epresented as

i=5J2+ l{]ccs(ﬁﬁﬂm +£W Amp
\ 6 )

The r.m.s value of the current is
Options :

3475777462, 532 Amp

3475777463, 10 Amp

3475777464, DU Amp

3475777465, 100 Amp



Question Number : 35 Question Id : 3475772120 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS ac YRI I

i s i )

=02+ IOcosLﬁS[}m +F |.~Imp
b J

%Wﬁﬁ?ﬁfﬁﬂmwﬁl HRT DI rm.s HIH %

Options :
3475777462, SN2 Amp

3475777463, 10 Amp
3475777464, DU Amp

3475777465, 100 Amp

Question Number : 36 Question Id : 3475772121 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire of resistance R is bent into a triangular pyramid as shown in figure with each segment
having same length. The resistance between points A and B is R/n. The value of n is :

A B
Options :

3475777466. 10
3475777467. 12
3475777468, 14
3475777469. 16

Question Number : 36 Question Id : 3475772121 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



UfeRIY R &1 U@ R, i & 221U T 3R, Th By forifts 8 Are1 @ g, o uds
GUS P ols G B 953l AR B S A I URIY Rn 8l n BTHAA B

A B
Options :

3475777466. 10
3475777467. 12
3475777468, 14

3475777469. 16

Question Number : 37 Question Id : 3475772122 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle of charge q, mass m and kinetic energy E enters in magnetic field perpendicular to its
velocity and undergoes a circular arc of radius (r). Which of the following curves represents the
variation of r with E?

Options :
M
I
>
3475777470. E
M
r
>
3475777471. E
M
r

3475777472. E



W

3475777473. E

Question Number : 37 Question Id : 3475772122 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3T q, GHHM m R Holl E B Uh HUT U 97 & diddd I g &3 T UL dHdl § 3R
3941 (r) & UD IdIdR 914 W I1d Hdl ¢ | FEfeRad d 9 1 91 deb, r HTE & 91y

Giec, FR=1Ud Hdr 82
Options :
A
r
=
3475777470. E
M
I
>
3475777471. E
M
I
3475777472. E
M
T
3475777473. E

Question Number : 38 Question Id : 3475772123 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two charges ¢y and g, are separated by a distance of 30 cm. A third charge g5 initially at *C" as
shown in the figure, is moved along the circular path of radius 40 cm from C to D. If the

: : ; o 43K .
difference in potential energy due to movement of g from C to D is given by An . * the value of
0
K is:
Coe~~
A3 ™™
40 cm \\

A 30 cm B D

Options :
3475777474, 81

3475777475, 602
3475777476, 601

3475777477, S92

Question Number : 38 Question Id : 3475772123 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&l 3T ¢, 3R g5, 30 cm DI TH G Y P ¢ | FF H U T SR URH B ¢ R TH
TR 3M1d g3, 40 e FA S AU S SRV C YD WA TG UG cAD WEAH F

Wﬁf@ﬁﬂmﬁwﬁ%fﬁliﬁﬂﬁ%:

A 30 cm B D
Options :
3475777474, 81
3475777475, 02

3475777476, 001

3475777477, 52

Question Number : 39 Question Id : 3475772124 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The percentage increase in magnetic field (B) when space within a current carrying solenoid is
i 5 = . SapE .

filled with magnesium (magnetic susceptibility Xame = 1.2 % 107 ) is:

Options :

3 10759

3475777478. 3

S 107

3475777479. 5

2 <1077

3475777480. 6

5
2 %107%%
3475777481. 6

Question Number : 39 Question Id : 3475772124 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Uch YRIdIgd URANST & Read R 6l HHiREE ¥ 1R §H R Jedid &7 (8) § ufdwrd
i (THDIT AT A = 1.2 % 107) B -

Options :

3 %1075%

3475777478. 3

S 107

3475777479. 5

2 <1077

3475777480. 6

5
2 %107%0%
3475777481. 6

Question Number : 40 Question Id : 3475772125 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Uniform magnetic fields of different strengths (By and B»). both normal to the plane of the paper

exist as shown in the figure. A charged particle of mass m and charge q, at the interface at an
instant, moves into the region 2 with velocity v and returns to the interface. It continues to move
into region 1 and finally reaches the interface. What is the displacement of the particle during this
movement along the interface ?

X x x o u 5
% % % whht % Region 1
Interface © x X

X X X Xp X
B,

,* * Region 2

b4

(Consider the velocity of the particle to be normal to the magnetic field and B, > By)
Options :



3475777482.

3475777483.

3475777484.

3475777485.

Question Number : 40 Question Id : 3475772125 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BT & dd & idad, s Uieedl (B, 3R B,) & ol ThUHM g Y &4, 9 § =i 1Y

! B"\ \I
ﬂ{,__.- -
g\ B
mv '{] B, \
qB\ B, )
mf(y B
aB\ By
mv 1 Bz
qf}’] : B]

YR fagHH €1 U &0 TR S-<R19Y W, 4 m 3R {42 q &I Uh AR ST a7 »
& 1Y, R 2 H U4 Rl § AR RIYE W 9199 31l g1 T8 RIH 1 F Tfd HAT AR
Gl & 3R 3fdd: 3=R1YS W Ugddl g | T b1 aiY ¥, SRIyS & 3G U7 &l a0

GHINCH

. x ¥ M_X X

YO )\Blﬁ b YH 1
HiUE x x

= o oOH %Bﬂ‘-\ = '{_'g_n:rz

(DU D 97 DI 49D & & fHcliedq 3R B, = B, HH)

Options :

3475777482.

3475777483.

3475777484.

3475777485.

Question Number : 41 Question Id : 3475772126 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=X X

B
—{I——" |%2
g\ B |
mv ( B, )
B\ B, )

¢ \
il [
ab By




Two plane polarized light waves combine at a certain point whose electric field components are
Ey=E, St
E; =E, Sin(ot + 7)

Find the amplitude of the resultant wave.
Options :

3475777486, 1+ E0
3475777487, E0
3475777488, 0-9 Eg

3475777489. 3.4 Eq

Question Number : 41 Question Id : 3475772126 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&l grdd fdd YT a7l fod dggd &F ued

E;=E,Sin ot
E,=E, Sin(ot + %)

. U e fa=g IR Ugad Bl & | IO ol &1 311 A1d $e |

Options :
3475777486. L.7Eq

3475777487. Eq
3475777488. 0.9 Eq

3475777489. 3.4 Eq

Question Number : 42 Question Id : 3475772127 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A lens having refractive index 1.6 has focal length of 12 cm, when it is in air. Find the focal
length of the lens when it is placed in water.

(Take refractive index of water as 1.28)

Options :

3475777490, 355 mm

3475777491, 288 mm



3475777492, 355 mm

3475777493, 655 mm

Question Number : 42 Question Id : 3475772127 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3UdHID 1.6 dTcl U -4 B BIHd Gdl 12 em 8, 914 [ U8 aRI H § | 04 &1 ik g1l
1A B3, e o g ol J YT g

(STl BT AU i 1.28 o)

Options :

3475777490, 555 mm

3475777491, 288 mm
3475777492, 355 mm

3475777493, 655 mm

Question Number : 43 Question Id : 3475772128 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For a hydrogen atom, the ratio of the largest wavelength of Lyman series to that of the Balmer
series Is

Options :

3475777494. 3 1 4

s

3475777495, 5 : 27

]
L |
n

3475777496.

¥
(e
=

3475777497 5

Question Number : 43 Question Id : 3475772128 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U g3 sIo IRAM] & 7Y, Arga- 9uil &i Siday aiiee] &1, 9FR 9U7 &l Sddq e
& 1Y, 3Urd g

Options :
3475777494, 3 : 4

L)

3475777495, 5 : 27

]
L |
n

3475777496.

L
i
(o3

3475777497, 5



Question Number : 44 Question Id : 3475772129 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a hydrogen like ion, the energy difference between the ot

1s 108.8 eV. The atomic number of the ion is:
Options :
3475777498. 1

excitation energy state and ground

3475777499. 3
3475777500. 2

3475777501, 4

Question Number : 44 Question Id : 3475772129 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Uh BISSIoH-THMH S . fgdia Iue SHull a1 3R FHad Sl a1 & &id &l
3+ 108.8 eV g1 3Y G Bl URHIV] H&H] ¢
Options :

3475777498.

—_—

LS

3475777499.

[

3475777500.

3475777501, 4

Question Number : 45 Question Id : 3475772130 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the following circuit, the reading of the ammeter will be

(Take Zener breakdown voltage =4 V)

1002
VWAAY

(@ 400
{57 ¥ er

Options :
3475777502. 24 mA

3475777503, 80 mA
3475777504, 10 mA

3475777505, 60 mA



Question Number : 45 Question Id : 3475772130 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafaRad uuy H. 4RMEMU &1 UI&did gi:
(QFR YT dledol = 4 V ©)

1005

Wiy

G@ 4000
12V ==

Options :
3475777502. 24 mA

3475777503, 80 mA
3475777504, 10 mA

3475777505, 60 mA
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Question Number : 46 Question Id : 3475772131 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1



A. B and C are disc, solid sphere and spherical shell respectively with same radii and masses.
These masses are placed as shown in figure.

Q

The moment of inertia of the given system about PQ axis is 5 I, where I is the moment of inertia

of the disc about its diameter. The value of x is
Response Type : Numeric
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Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Question Number : 46 Question Id : 3475772131 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1

A, B 3R c. O B 3R soqmrHt &, $O: IfbdT (ddhdh), 319 Tl AR Mg s g1
oM fo H 2= Y o uR A

Q
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Text Areas : PlainText
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Question Number : 47 Question Id : 3475772132 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
A wire of length 10 cm and diameter 0.5 mm is used in a bulb. The temperature of the wire is

1727°C and power radiated by the wire is 94.2 W. Its emissivity is ;r where x =

(Given o =6.0 x 1078 W m™ K—j'., n = 3.14 and assume that the emissivity of wire material is
same at all wavelength.)
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TR 10 cm 3R T 0.5 mm & TP dR PI, TP ded H YA fHA1 11 81 TR BT ATAM
1?2?C'C%ﬁ?aﬁmﬁ%ﬁ?rmﬁ94.:w%‘lWG@G‘W%%H@TF gl

(Mgl o =6.0x 108 Wm? K™, n=3.14 § R AM o fob IR & U1 B Icoidhl,
i TG R A B)
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An ideal gas has undergone through the cyclic process as shown in the figure. Work done by the

gas in the entire cycle is x 10717,

(Take n=3.14)

350 | — T
V. 250 b -

{cmj} :
150 |- - 2 [

| | |

| | |

300 400 500
P(kPqa) —
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TS ez 19 &I, o H ST N o UR, T I6 UHH ¥ 7RI o71d ¢ | 990 Uhd J, 79
SR fhar mar & SURM

(m=3.14 )
| | |
7o N N NN R
L7 3 - R,
(cm’ |
150 |- — Al -~
| | |
| | |
300 400 500
P(kPq) —>
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For ac circuit shown in figure, R = 100 kQ and C = 100 pF and the phase difference between Vj,

and (Vg — V) is 90°. The input signal frequency is 10" rad/sec, where ‘x” is

| |
I
&l

Vi“@ * o
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o ¥ GRITUTTU ac URUY & AU, R = 100 kQ, € = 100 pE 3RV, 3R (Vg = V) & S &I
AR 90° gl (M9 U mﬁf 10” rad/sec G, G@Tr S
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A container contains a liquid with refractive index of 1.2 up to a height of 60 cm and another
liquid having refractive index 1.6 is added to height H above first liquid. If viewed from above.
the apparent shift in the position of bottom of container is 40 cm. The value of H is cIm.
(Consider liquids are immisible)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Question Number : 50 Question Id : 3475772135 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 1
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dd Udd-id 1.6 B 0P A gd [HA™T AdI g1 U U 6@+ U2, UE &l dall &f Ul &1
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Answers Type : Equal

Text Areas : PlainText

Possible Answers :
1
Chemistry Section A

Section Id : 347577150
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 347577150
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3475772136 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
At the sea level, the dry air mass percentage composition is given as nitrogen gas: 70.0, oxygen

gas: 27.0 and argon gas: 3.0. If total pressure is 1.15 atm, then calculate the ratio of following
respectively:

(1) partial pressure of nitrogen gas to partial pressure of oxygen gas

(i1) partial pressure of oxygen gas to partial pressure of argon gas
(Given: Molar mass of N, O and Ar are 14, 16 and 40 g mol ™! respectively.)
Options :

3475777511, 2.59, 11.85

3475777512, 2.96, 11.2



3475777513, 4.26, 19.3

3475777514, 346, 17.8

Question Number : 51 Question Id : 3475772136 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g TR R, YD 1g Goqd{H id=rd Yoe Agelioi 719 : 70.0, HGHISH T9: 27.0 3R
g&fﬁm.o & $U W Ucd g1 gfc $ol &ld 1.15 atm ¢, dl FHfciRad & U=l 3Urd &1 10H]
(i) TZeloH 119 & HifId Te ST SfidHior 19 & 3 a" & qY

(ii) SIS T & RIS G4 ST (M 79 & D e & gy

(AT 8: N, 0 3R Ar & HIGR G0 BAT: 14, 16 AR 40 g mol™ T)
Options :

3475777511, 2.39, 11.85

3475777512, 2.96, 11.2
3475777513, 4.26, 19.3

3475777514, 3.46, 17.8

Question Number : 52 Question Id : 3475772137 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Visible spectrum

1 ' |
400 500 600 700 750
Wavelength i (nanometers)

Which of the following statements are correct, if the threshold frequency of caesium is 5.16 =
1014 Hz?

A. When Cs is placed inside a vacuum chamber with an ammeter connected to it and yellow
light is focused on Cs, the ammeter shows the presence of current.

B. When the brightness of the yellow light is dimmed, the value of the current in the ammeter
is reduced.

C. When a red light is used instead of the yellow light, the current produced is higher with
respect to the yellow light.

D. When a blue light is used, the ammeter shows the formation of current.

E. When a white light is used. the ammeter shows formation of current.

Choose the correct answer from the options given below:
Options :

3475777515, B, € and D Only

3475777516, A+ €. D and E Only

3475777517. A. D and E Only

3475777518, A+ B. D and E Only

Question Number : 52 Question Id : 3475772137 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



|
400 500 600 700 750
R

e Hiforad ! Sgail 3aid 5.16 « 101 Hz g Al FEfaRad d § F 9 &UH Igl g2

A. ST Cs Bl 3UY YN YR & 91y U (Halldd USI8 § Waar 30 |R Ui U= &l
By [l SIdl 8, di YR 4RT &1 IUlRd! G20l g |

B. Uid UBHTR & UHIH D e ged] [T Sl o, YRTHIGTH 9RT &1 HH 92 Sdl g |

. YTl TRl & RIH IR Sid el Uh IRl &1 YA fddr Siidl 8, d1 Uil U= & gaH
3A URT IR ol o

D. 14 U =il UHT=I &1 YA {1 SI1d1 g, df YRMHEM! 4R & FAv &l geiarg |

E. 514 Udh Glhe U120 &1 YL [l STl g, df YR 9RT & HI0 &1 g2iidar o

14 feu e fadedt @ O I8l S I
Options :

3475777515, DA B, C R D
3475777516, PAT A, C, D 3R E
3475777517, PAA A, D 3R E

3475777518, Hdd A, B,D 3R E

Question Number : 53 Question Id : 3475772138 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Total enthalpv change for freezing of 1 mol of water at 10°C to ice at —10°C is

(Given: AgfH = x kJ/mol
CplH,0(D] =y T mol T K

Cp[H0(s)] =z T mol K™
Options :
3475777519, =% — 10y — 10z

3475777520, —10(100x + y + 2)



3475777521, LO(100x + ¥ + 2)

3475777522, X — 10y — 10z

Question Number : 53 Question Id : 3475772138 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10°C RS & | G1d & —10°C R T H fgh & ot Sl T gRdaq gl

(fearman g AgsH = x kI/mol
Cp[HO(D] =y 1T mol 1 K71

Cp[HEO{sJ] =zImol 1K !
Options :
3475777519. =% — 10y — 10z

3475777520, —10(100x + ¥ + 2)
3475777521, 10(100x + y + 2)

3475777522, X — 10y — 10z

Question Number : 54 Question Id : 3475772139 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An aqueous solution of HCI with pH 1.0 is diluted by adding equal volume of water (ignoring
dissociation of water). The pH of HCI solution would

(Given log 2 =0.30)
Options :
3475777523, remain same

3475777524, reduce to 0.5

3475777525, lncrease to 2
3475777526, Increase to 1.3

Question Number : 54 Question Id : 3475772139 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

pH 1.0 & 1Y HCl & el faeid &1 wid (Sid & faais &1 SU& did gU) & SRR SHdH
&1 B IS0 {1 ST § | Hel faea & pH

(m]—m%: log 2=0.30)




Options :
3475777523. q E% I

3475777524, FCDX 0.5 gl ST
3475777525, SGPR 2 B S

3475777526, N@PX 1.3 G

Question Number : 55 Question Id : 3475772140 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Mohr's salt is composed of only three types of 1ons-ferrous, ammonium and sulfate.

Statement IT: If the molar conductance at infinite dilution for ferrous. ammonium and sulfate
; ; 7 i ;
lons are xq, X and x3 S em™ mol 1 respectively then the molar conductance for Mohr's salt

solution at infinite dilution would be given by xy + 1 + 2x3

In the light of the given statements, choose the correct answer from the options given below:
Options :
3475777527. Both Statements I and Statement II are true

3475777528, Both Statements I and Statement II are false
3475777529, Statement I is true but Statement II are false

3475777530, Statement I 1s false but Statement II is true

Question Number : 55 Question Id : 3475772140 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT HFRU N E:
YA 1: IR dGU $dd oI YR & A8 By, AAGH 3R Gebe I Had s gidl o
DY 11: Fic 1Y, STTH HR Gelbe 3| Bl 3+ I3d1 T HieR dTeidhdll hH: x;,

X7 ﬁ?x; S em” mol ™! gf‘ﬁmﬂﬂﬂ R OR ddUl &1 AleR dlddhd] X1+ Xy + 2x3 gIRT Hdd
&I STE|

Sudd Byl & 3M1edid . I flGu U fadedl & U 98t 3ov 9

Options :
3475777527, PAA I AR BYA I GHI A G|




3475777508, DY I 3R YA I GHI 3T G|
3475777529, PATI U 8. I HYT 11 3 A ¢

3475777530, P AT A 8. g YT FA I

Question Number : 56 Question Id : 3475772141 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reaction A(g) — 2B(g) + C(g) is a first order reaction. It was started with pure A

Pressure of system

Lo at time t/mm Hg
10 |160 |
e |240 |

Which of the following option is incorrect?
Options :
3475777531, 1nitial pressure of A is 80 mm Hg

3475777537, Partial pressure of A after 10 minute is 40 mm Hg

3475777533, Rate constant of the reaction is 1.693 min~>

3475777534, Lhe reaction never goes to completion



Question Number : 56 Question Id : 3475772141 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BT A(g) — 2B(g) + C(g) Th UYH IS HUBAT G Tg UG A D U gs ol

‘t.-"min”'\‘:l'qu t/mm Hg W Fe@ &1 E'IE|

110|160 |

o [240 |
ffeRad § 9 &9 91 [ddhed Tad g2
Options :

3475777531, A DI TRITH$ &9 80 mm He ol

347577753, 10 THFIC & TYTT A BT D G 40 mm Hg T |

3475777533. W W&T% 1.693 Illilfl_:l %I
3475777534, AT BHT 01 T Bl

Question Number : 57 Question Id : 3475772142 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A person's wound was exposed to some bacteria and then bacterial growth started to happen at
the same place. The wound was later treated with some antibacterial medicine and the rate of
bacterial decay(r) was found to be proportional with the square of the existing number of bacteria
at any instance. Which of the following set of graphs correctly represents the “before” and ‘after’
situation of the application of the medicine?

[Given: N = No. of bacteria, t = time, bacterial growth follows 1% order kinetics.]
Options :

Before After
2 =5
o !
—_ I
Nt:
14
0 0
3475777535. 0 t —> 0 Be—»
Before After
2 -
.l !
ookl 'y
NU

3475777536. 0 t —> 0 N—>



Before

1]
N
Ny
1_-
(] P
3475777537. 0 t —>
Before
E
N
j\";U
14
0L
3475777538. 0 t —>

0

After

After

Question Number : 57 Question Id : 3475772142 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Uch Afdd &1 91 b4l Sid10] & Grgdh T 311 7747 3R 39 VI R Si1a17] - gig YR g1 4l

°Id &1 916 H [l
bl &or R faeAE

S{INTY & G IUAR a1 741 3R SHar] - &4 ( r ) Bl aR
ST &l g & ail &b

gl TRiT ATl & FafaRad

gl O U B 91 3N & HUanT o Ud° 3R Uy & R4fqal o (2i0d SR g 2
[fecam T g: N = SflaTopeil &1 9w, « = GHY, Sa1v]-gfs UH Sife &1 Tiddt BT ST

B EI]

Options :

3475777535.

o

Id gyt
R
Ny
1
0= 0
0 t —= 0 N—>

UHld

3475777536. 0

f—




o)
N
iy
N(‘J
‘1__
0] 0
3475777537. 0 t —= 0 N —=
kSl oy
[ !
N
UL ['
Nf'i
14
0= 0
3475777538. 0 t —= 0 INo—

Question Number : 58 Question Id : 3475772143 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the LIST-T with LIST-I

LISTI LSER
i Bond pair : lone pair
Molecule / 1on

(on the central atom)
A[ICL I14:2
B.|H-O IL|4:1
C.|50; MI|2:3
D | XeFy [V.|2:2

Choose the correct answer from the options given below:
Options :

3475777539, A-111, B-IV, C-I, D-II

3475777540 A-IV. B-III, C-II, D-I

3475777541, A-111, B-IV, C-II, D-I

3475777542, A-1L B-1. C-IV, D-III

Question Number : 58 Question Id : 3475772143 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 B G111 & 1Y e 63

1 HTE=I [T t{lilmﬁw
kil @ A R
A [1CI, L{4:2
B.|H,O Imj4:-1
C.|S0; 112 :3
D.|XeF, V|2 :2
414 fau 0 fameui O 9 9l IR 9
Options :

3475777539, A-IIL B-IV, C-1, D-II
3475777540, A-IV, B-III, C-II, D-I
3475777541, A-IIL B-IV, C-II, D-I

3475777542, A-IL B-L, C-IV, D-III

Question Number : 59 Question Id : 3475772144 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of valence electrons present in the metal among Cr, Co, Fe and Ni which has the
lowest enthalpy of atomisation is

Options :

3475777543. 8

3475777544, 9
3475777545. 6
3475777546. 10

Question Number : 59 Question Id : 3475772144 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cr. Co, Fe AR Ni § Y HUH &1 FHgaq v drell o1 d Sufd Gaiiddl sadei-l o
gE g

Options :

3475777543. 8

3475777544, 9

3475777545. 6

3475777546. 10



Question Number : 60 Question Id : 3475772145 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The group 14 elements A and B have the first ionisation enthalpy values of 708 and 715 kJ mol ™!
respectively. The above values are lowest among their group members. The nature of their ions

A?" and B¥ respectively is
Options :
3475777547, Feducing and oxidising

3475777548, 0Xidising and reducing
3475777549 both reducing

3475777550, both oxidising

Question Number : 60 Question Id : 3475772145 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 14 & ddl A 3R B & UYH A 32U A HHI: 708 3R 715 kI mol™! g1 ST AH
30 97 & Gail § Y ATH | 34D AT A2 3R B4 &l Uldgpioal HHE: ¢

Options :

3475777547, ATAAD 3R AHFHRD

3475777548. PR 3R AT=EaH

3475777549, Gl HOARID

T it Ty

3475777550, Gl HATFHIHRD

Question Number : 61 Question Id : 3475772146 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first transition series metal ‘M" has the highest enthalpy of atomisation in its series. One of

its aquated ion (M™) exists in green colour. The nature of the oxide formed by the above M™"
ion is:

Options :

3475777551, basic

3475777552. acidic

3475777553, amphoteric

3475777554, neutral



Question Number : 61 Question Id : 3475772146 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T4H 4ol BT TP YHHOT 41q M DT 30T S0l H I=ATH HUH T ¢ | SHDT U Uehe's
3 (M) g T H faedH g1 Suddd M 3194 gR1 AT 3{TdI2s 1 Udhid ¢:

Options :

3475777551, &R
3475777552, ST

3475777553, 3HY E”:H

3475777554. 3Gl E“ I

Question Number : 62 Question Id : 3475772147 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An octahedral complex having molecular composition Co.5NH;.CL.SO, has two isomers A and

B. The solution of A gives a white precipitate with AgNO; solution and the solution of B gives

white precipitate with BaCl, solution. The type of isomerism exhibited by the complex is.
Options :
3475777555, Linkage isomerism

3475777556. Co-ordinate isomerism
3475777557, lonisation 1somerism

3475777558, Geometrical 1somerism

Question Number : 62 Question Id : 3475772147 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3UdIh W Co.5NH;.CLSO, & U JFHAGI Ydd & ol HETd A AR B g1 A Bl
faeTaT AgNO; & faeid W1 §the 2(dalT <l 3 3R B I fdcid BaCl, & faeia & 1y
Uhe 398U ¢dl | UPpd aR1 UG RId YHEgddl BT YR ¢,

Options :
3475777555, ST GHIGAI]

3475777556, SH-AY] GHTGIAd]

3475777557, 144 HHIGYI ]

3475777558, SUNHATY GHGIA



Question Number : 63 Question Id : 3475772148 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When a salt is treated with sodium hydroxide solution it gives gas X. On passing gas X through
reagent Y a brown coloured precipitate is formed. X and Y respectively, are

Options :

3475777560, % — NH4Cland Y =KOH

3475777561, - — NH3 and Y=HgO

3475777562, -~ = NHj3 and Y = K,Hgl, + KOH

Question Number : 63 Question Id : 3475772148 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

old U AUl &1 YITSTH BrEgldss faea & Y SU9R {6l Sl g, d 98 T X d 3|
Wx?%#ﬂ%&fﬁmmﬁmﬁwujwww@ﬁﬁam% X3ARY
HHI:

Options :

3475777550, X = HCL 3R Y = NH,Cl

3475777360, X = NH4CL 3R Y = KOH

3475777561, -~ — NH3 IR y= HgO

3475777562. X =NH; IRY= K,Hgl, + KOH

Question Number : 64 Question Id : 3475772149 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Dimethyl ether is completely soluble in water. However, diethyl ether is soluble in
water to a very small extent.

Statement II: Sodium metal can be used to drv diethyl ether and not ethyl alcohol.

In the light of given statements. choose the correef answer from the options given below
Options :
3475777563. Both Statement I and Statement II are true

3475777564. Both Statement I and Statement II are False



3475777565, Statement I 1s true but Statement II is false

3475777566. Statement I is false but Statement II are true

Question Number : 64 Question Id : 3475772149 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AR R AR

fﬁtFr I: ST SR S H qoia: fae ¢ | 7, SR SR 51 H 9gd of $H e ¢
11: Y99 4Iq 1 SUN SISUYd SUR & YSh & (¢l fhal &l Yabdl 8. U Uidd
ﬂc—mﬁméﬂw‘sﬁl

SUdd Bl & el H, i feu U fadbedl @ 9 9t SR I+

Options :
3475777563, DU 3R HYA 11 GHI A B |

1475777564, PUT T 3R HUT 11 ST 2 FA B
3475777565, P A1 T 8, g YT 11 2 A ¢

3475777566, P A1 1 3UH 8. g PYT I 9 ¢

Question Number : 65 Question Id : 3475772150 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is the correct IUPAC name of given organic compound (X)?

H;C CH4
s I
ir
H H
(X)
Options :

3475777567, 4-Bromo-3-methylbut-2-ene
3475777568, 1-Bromo-2-methylbut-2-ene
3475777569, 2-Bromo-2-methylbut-2-ene

3475777570, 3-Bromo-3-methylprop-2-ene

Question Number : 65 Question Id : 3475772150 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FHfcRad # U &IH U1 6T U Sre i T (X) BT Yl IUPAC T &2

H,C, CH,

(X)
Options :

375777567, 4-SAI-3-HRITHE- 25
3475777568, L-STHI-2- ARSI
3475777569, 2-SNHI-2-HIUTTSHE- 257
3475777570, 3-SIAI-3 AT 25

Question Number : 66 Question Id : 3475772151 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The reactions which cannot be applied to prepare an alkene by elimination, are

NaOEt
A.
Br
5 CH,—CH,— CH —Ci; —21 29
. b 0 I -
B
CH,
C. CH, I Br DaliMee.
CH,
D'@UH 1,50,
CH,
E. CH, | OH O,
| 573K
CH,

Choose the correct answer from the options given below:
Options :
3475777572, B & E Only

3475777573, B & D Only



3475777574, B- € & D Only

Question Number : 66 Question Id : 3475772151 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

d 3Ty {51 [adiu- gRT Yo & favd & feu siuaiT =81 {dhar o 9l §

NaOEtL
A
Br
SRS _KOH i)
Br
CH;
C. CHy I Br NaOMe >
CH,
Na,Cry(
> @0” —Hs0;, >
lfSII3
E. CH, | Ol Cu "
| 573K
CH;
Al feu T o el § 9 98t IR -
Options :

3475777571. had A, C 3R D
3475777572, DA B 3R E
3475777573, DA B 3R D
3475777574, PAA B, C 3R D

Question Number : 67 Question Id : 3475772152 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Ozonolysis followed by treatment with Zn. H>O of cis-2-butene gives ethanal.

Statement II: The product obtained by ozonolysis followed by treatment with Zn, H,O of 3, 6-

dimethyloct-4-ene has no chiral carbon atom.

In the light of the above statements, choose the correct answer from the options given below
Options :



3475777575. Both Statement I and Statement II are true
3475777576, Both Statement I and Statement IT are False
3475777577, Statement I is true but Statement II is false

3475777578, Statement I is false but Statement II are true

Question Number : 67 Question Id : 3475772152 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A S YA GT U E:

YT 1: {99 - 2- TS SAISHI-3UTeH & 916 Zn, H,0 U SYIR B TR T4 &l 8|
DYTIL: 3, 6 - SHHUAHT -4- 34 P SIS 30T & &G Zn, H,0 Y ITIR B I
I 3G H BIS fh BT WA 8] gl g

Sudd Byl & el . I fiGu U fadedl & U 9t 3% 9

Options :
3475777575, DU SR HYF I GHI G g |
3475777576, DU T IR BYF 11 THI T T

3475777577, P A1 T 8, g YT 11 2 A ¢

3475777578, P 41 1 3H 8. RgPYT I IAZI

Question Number : 68 Question Id : 3475772153 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compounds is least likely to give effervescence of CO; in presence of aq.

NaHCO; ?
Options :
COOH
3475777579, NO2
) O

3475777580, P —NH; Cl



OH

3475777581. NO,
_ OH
T\’[)z NUZ
3475777582. NO,

Question Number : 68 Question Id : 3475772153 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FEIRad J & Y dIfE &1 Selld NaHCO; @1 SURITA H co, & 9646 G- &l FAdH

GRTIT 82
Options :
COOH
3475777579, NO2
() =)

3475777580, P —NH; Cl

OH
3475777581. NO,
_ OH
T\Dz NUZ
3475777582. NO,

Question Number : 69 Question Id : 3475772154 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following amine (s) show (s) positive carbylamine test?

NII,
"

B. (CH;),NH

C. CH;NH,

D. (CH3)5N
H

E : NCH,

Choose the correct answer from the options given below:
Options :

3475777583, C Only

3475777584, B. C and D Only
3475777585, A and C Only

3475777586, A and E Only
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Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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B. (CH;),NH
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Options :

3475777583. &Hdd C

3475777584, DA B, C SR D
3475777585, DA A 3R C

3475777586, PAd A 3R E




Question Number : 70 Question Id : 3475772155 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: D-(+)-glucose + D-(+) fructose ﬁ) Sucrose

hvdrolysis ——
sucrose 2 : > D-(+) glucose + D -(+) fructose

Statement IT: Invert sugar is formed during sucrose hydrolysis

In the light of the above statements, choose the correct answer from the options given below
Options :
3475777587. Both Statement I and Statement II are true

3475777588. Both Statement I and Statement II are False
3475777589, Statement I 1s true but Statement II is false

3475777590, Statement I is false but Statement II are true
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Number : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
3475777587, PUT I AR BT 1 <HI A G

347577758, DU I SR Y I GHI ST G|
3475777589, PATI T . IR HYT 11 3 A ¢

3475777500, P A1 T A 8. RgPYT N IAZI
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Question Number : 71 Question Id : 3475772156 Question Type : SA Display Question Number : Yes
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1 Faraday electricity was passed through C u?" (1.5 M, 1 L) /Cu and 0.1 Faraday was passed

through Ag™ (0.2 M, 1 L)/Ag electrolytic cells. After this the two cells were connected as shown
below to make an electrochemical cell. The emf of the cell thus formed at 298 K is
mV (nearest integer)

Given : E°c25/cy =034V
EAgtiag =08V

ZiBIRT o s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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faggd srugel Udi cu?™ (1.5 M. 1 L) /Cu U Bl | BI1S fdggd 4RI 3R Ag™ (0.2 M, 1L)
/Ag T EIR 0.1 RIS faggd YR TTHRI it | 59 uiq i ST 7Y S aR

geide RIS Yd 94 o ol &l Yl &l Jiford fdbar 1811 39 UhR 298 K IR [Hid 9d
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The percentage dissociation of a salt (MX3) solution at given temperature (van't Hoff factor i = 2)
15 %(Nearest integer)
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Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Text Areas : PlainText
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The number of paramagnetic complexes among [PEF6]3 ~, [Fe(CN)gl = [Mn(CN)g] 2

[CG{C’EO4}3]3_, [MnC 15]3_, and [C 01:5]3_. which involved dzsp3 hybridization is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :
1
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[FeF¢~. [Fe(CN)gl . [Mn(CN)g>~, [Co(C204)5]~. [MnClg]>~. 3R [CoFgl*, H ¥ 34
RIS Gl bl G, [ d2sp® YHvl Hifgd ¢ gl
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An organic compound weighing 500 mg, produced 220 mg of CO,, on complete combustion. The

percentage composition of carbon in the compound is %. (nearest integer)

(Given molar mass in g mol of C:12, 0:16)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Thyroxine, the hormone has given below structure

I I

HO 0
COOH

NH,
The percentage of iodine in thyroxine is %. (nearest integer)

(Given molar mass in g mol ™ C:12, II:1, 0:16, N:14, I:127)
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